s8sn ( HA yZ2dW (3 ¥ X|EHE (ME

=S
TZ¢d 12( 10 3) X| =LA
2.14:00~14:40
K= A2t |2h14:50~15:30 WSEA 3= CHAA
=.14:00~14:40

X &=2|2t 20254 3 2 4 2 ~ 20254 3 & 31Y (12 XA | R EQY 2l 3}

no

7| =LA}

%
RATE A% AE]

& = A stg W& H| 2
*_Or_IDIO'I
od
4 r22oj~EY Ay o WA kR 2k 7|
*OF 8 X O]
T td
PSR AERT AER|*lO e
= S Lj3 ot A
107 Y otoj&|old AYY A oto|Eoldez BE 50|7|
*obm oI5| 7| mOIEQHR OhR &M HOIE QLR old{g 7|
11 *0to|&2y0]d Z2{0]7| Oto|&g0]d & 2t =X HutelH s5HE
o2 EN 227 7|
= Xl gl
B e N N L [
> oo A M Mp|ls =7tEHE Q7
17|*molE0tR 927 ZOIE o8 Zof X ohof F3E7|
g HY2d 9 HE 57 Yo WXL 25Y o8]
“OHR oj5{ K| Otm Bo| L MM FHEI|
20 YUY W AEHH AUz 2= O AAHAFT|
*HEC| 0|2 Hi R 27| HIC|O|E gls Mz 0|2 HiR L7

24 *Al.oleAEE.”jq El_EloE Ol'Ol—%E-”OlAIj gtl A|'O|E ﬁEEﬂQEE %E
§— o T—o

M F|e 7
*(I)_}_I?__J'I_\_A.I o |‘I’-|E |
25 S = oL ZgteE Wat g =M SHET|
*QhE B H3H E 7|

*Oto| & 2f 0]

27 *9jZAE B Mz E2H A SHS H2 HEO|AM EHot H
OoO—H-d - Oo— iT [ 7
o2 2| =
AL
31 ot OrRz| 3 He| 23

OIS OpRE| SEN =




3 o % 3| (MEHS
s&%d ( WA ) =Z2IY (3)E X A WYY
— = |

SRR
4o 25 11 B XK= ZAL
2114:50~15:30
51.15:40~16: L 0N 35 A
XK= A2t |2h15:40~16:20 L=
£ 14:50~15:30
| 2| 51 2
X E7|7t 2025 3 2 4 € ~ 20254 3 & 31 (12 XA | X E2Y 2 ot =
NESE | 24USS ofs|wn] 82 7I9RAt
KAIE X2 A=
= n
EIE = A S 8 Zk

NTEIL -
3|4 |-=202E0y YUY W A 2B 2 077

e
3| g |[ER0SERT Z20{ AEYHOR TS 1 O AN

*OLB A A{LF7}7 |

+9laof ofo|& 20| M e 9 ojojso|MeR L& S0l
3| 10kotpos)7 molsoe oS +A EQIE o2 of3{m7|

*0po| & 0|M 2%[0|7] ofol&o|M U OtE X HupEH SAE
3 M hotm 24 9127 7]

SROREHT R MOIE2EH e Ay o we Asyy
3133 OLR &M HE|Z BURE 27
3|17-molsete 997 EQIE 012 ¥of T 0| H427]

Q7 AE g HI 7| oUABIoR BIXIZZIT} 2|57 Y&

318 lotm ofgimy) ote Ro| =7 Meid 3=
9ol I AEFH ooz A8 02 AlFZT|
S S [e]
3120 |eutcigpo012 ey 7| HETISJOlE Bl WS 9o|2 by 7]
*Oro|Z 2 0] Olo|£0|M U AfO|E AEHOZ S
o

*OFE 2 A

*O_IDIO-I =) S L 77| AF xx

nes OIS EhpE Il B LANY BT

“orol= |0l ojEAE ol ZAS e MM Hit M
3|27+ mae o M= = )

*ObE L K|

*O_IDIO'I o o




s cH A T 2H 2 -] EH &
s ( HHA ) Z20M (3)E Xk A= (MEHY)
O|2|REIXEsn
T4 37( 7 9) K E=ZA
2.15:40~16:20
X ZAIZE |2416:30~17:10 ME=PYEN 3 CHAA
£.15:40~16:20
X 27|72t 20259 38 4 2 ~ 20254 38 31Y ( 12%FA)) e 23l=
Nesg | MR E A5 EH RFAMZ 7|/ EXL
KAIE K= A=
IR = A st W& H| 2
*O_IEIIO-I
™Hod
3|4 E20j2EY AYY W WA R &N A7)
*Op8a X Ol
T4
*SEO2EYE = AE Xl o e 1 orgE 4
*@ U ofol&e oM U S ofo|EO|MeE B S2 0|7
3 10kormols)7| mol=gts oS +A EQIE o2 of3{m7|
3111 *Ot0|& 20| S %El0|7] oto|&go[Md A QOtF =X Bl FHE
xR A Q27| 7|
gl e X MOE2EH o) aeyy 9w Aeyy
o AL S =
3|17 [*ZQIEQHT 9|27 ZOE O Zok =F slH FHFE7|
*QUAH ol M= 7| AZABoZ gxtzztnt 2|5 A 27|
3 18 *0OF8 Ol oo To| 771 Ab xx
Ot O&{ &t 7| Ot Zo| =7 AN EFHE7|
3 || Y & 2EY AUYCR T o AHFT|
*HFC| 0] 2 HiR|E 7| HIC[O|E 22 WS <o|E HiR L7
3|24 *AI-OIEﬁEEﬂ%,' Efﬂ%% Ol'oleoa'llollj ES A|'O|— ——E'"o—i 'rrg
corD ~ o 7|7
|
3 (25 *%%I% oo SHiEE m;|_|- 'c'>'|-7}-|| |_77|A|-E;| xx_|37|
*O}0| & 20| M ~
NP YYAH U FHS TS NejolM HIt M
T = 7|
*OhR %X
3|31, 05® ot 122 U Ho| 25
QIR OR2 =53z ST A eTEe







